1. (12 points)
@(ﬂ) Find the equation of the plane that contains the point (1,—2,3) and the line given by
T=4t,y=1-t,z=5+2t
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L’Q(b) Consider the line through the point (0,3, 5) that is orthogonal to the plane 2z — y + z = 20.
Find the point of intersection of the line and the plane.
(Hint: Start by finding parametric equations for the line).
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2. (5 pts) Consider the surface z = 22 + 2y*.

(a) Describe the traces parallel to the given plane (no work needed, just circle your answers).

i. Parallel to the yz-plane (when z is fixed): ;
( IBMA}{ABOIE CIRCLES ELLIPSES HYPERBOLAS NONE OF THESE
i. Parallel to the z2-plane (when y is fixed):
f PARABOLAS y CIRCLES ELLIPSES  HYPERBOLAS  NONE OF THESE
iii. Parallel to the zy-plane (when 2 is fixed, 2 > 0):

PARABOLAS CIRCLES ¢ Fl g:} HYPFRB()LAS NONE OF THESE
(b) Clearly circle the name of the surface given by z = 2% + 2y*:

WAL B

CONE SPHERE ELLIPSOID
PARABOLIC CYLINDER  CIRCULAR CYLINDER ELLIPTICAL CYLINDER
HYPERBOLIC CYLINDER  HYPERBOLOID CIRCULAR PARABOLOID

a\wLLIPTI(‘ PARAB()LOH_) HYPERBOLIC PARABOLOID NONE OF THESE




